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Part II S-Tier

TAX LAWS AND ADMINISTRATION
PAPER—XI
(Elective Géneral)
Full Marks : 100
Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required fo give their answers in their
own words as far as practicable.

Tlustrate the answers wherever necessary.

1. Answer any five questions : 4X5
{a) Define specified employee.

(b) Mention two advantages of VAT,
(c) Define short term Capital Asset.

{d) What do you mean by Tax planning?
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(e) Write short notes on Profit in lieu of salary.

() How will you calculate Annual Value of house
Property ?

(g} What is heads of income ?
(h) What do you mean by Agricultural Income ?

() Write short notes on ‘TAN’.

() What do you mean by ‘self assessment tax’.

2. Answer any five questions : ‘ 8x5

(a) Write a note on treatment of different types of
Provident Fund for the purpose of Income Tax. ’

(b) Discuss some important aspects of VAT.

(c] Distinguish between ‘Short-term capital gain’ ahd
‘Long-term capital gain’.

(d) Write a note on Deduction u /8 80G of the Income Tax
Act, 1961.

(e} Distinguish between ‘Gross Total Income’ and
Total Income’. '

() Compute the gross total income of Mr. K Banerjee
from the following details for the assessment year
2015-16 :
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Income from lottery , 45,000

Income from business-{ . 30,000
Income from business-II (-} 40,000
Income from House Property—(l) A 70,000
Income from house property-II {-} 30,000
Income from speculation business 15,000

(g} Discuss the method of determining annual value of
the let-out property.

{h) Define ‘Salary’ u/s 17(i) As per Income Tax Act.

(i} When income of the previous year is assessed in the
same year ? '

(i) Sri Tapan Roy, an employee of a firm, retired on
30/4/2014 at a monthly salary of Rs. 17,000 after
completing his 24 years and 8 months of service and
received Rs. 2,38,000 as leave encashment for
14 months. From the following information calculate
the taxable amount of leave encashment of $ri Roy.

e Leave entitlement 40 days for each completed
yvear of service.

e Leave availed of while in service 18 months,

® Leave standing to the credit at the time of
retirement — 14 months.

e Average monthly salary — Rs. 16,600.
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3. Answer any two questions : ‘ 15x2

(a) Mr. A. Basu submits the following information for -
the Assessment year 2014-15 :

House 1 House I
Rs. Rs.
Fair rent 75,000 85,000
Rent received 78,000 78,000
Municipal valuation 7 76,000 75,000
Municipal taxes (due) 13,000 14,000
Repairs 3,500 4,700
Insuram‘:e 2,000 3,000
Land revenue (paid) 2,500 4,000
Ground rent {due) 1,600 6,000
Interest on borrowed_capital 20,000 22,000
Nature of oceupation - Let out for Let out for
residence business
_ House situated at Haldia Siliguri

Determine Income from house property of Mr. A. Basu
for the Assessment Year 2014-15.

{p) Compute total income for Mr. Sagar Kar for the .
Assessment Year 2014-15 from the following

particulars :

€/15/B.Com./Part-I{EG)/3T{N}/11 {Continued]



(i) Basic salary Rs. 12,000 p.m.

(i) D.A. 50% of Basic salary (which enters in the
retirement benefit as per the terms of
employment).

{iiij Bonus Rs. 4,000 p.a.

(iv) Rent from accdmmodation in Delhi provided by
X Ltd., the employer, fair rental value. being
Rs. 20,000,

(v/' The cost of furniture provided therein is
Rs. 10,000.

(vi} Entertainment allowance Rs. 500 p.m.

{vii} Free use of motor car of 1.8 ltrs. engine capacity
with driver, partly for official purpose and partly
for personal purpose.

(viii} Life insurance premium paid by Mr. Sagar Kar
is Rs. 12,000 p.a. on a policy of Rs. 1,30,000.

{c) ‘Write notes on :
{i) Annual Value.

(i} Deduction in respect of interest on borrowed
capital u/s 24(bj.

(iii) Capital assets.

C/15/B.Com./Part-I{(EG)/3T(N)/11 (Turn Over)



{d) Distinguish between :
(i) Direct taxes and Indirect taxes.

(i) Tax avoidance and Tax evasion

(iif) Legal Income and llegal Income.
(e} Taking imaginary figures calculate gross total
income, total income, gross tax liability and net tax

liability of an individual for the assessment year
2014-15. (Make assumptions wherever rnecessary.)

[ Internal assessment — 10 marks ]
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Income from lottery ; 45,000
Income from business-I 30,000
Income from business-II (-} 40,000
Income from House Property-I 70,000
Income from house property-II (=) 30,000
Income from speculation business 15,000
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‘4" Leave entitlement 40. days for each corhpleted

vear of service.
e Leave availed of while in service 18 months.

e Leave standing to the credit at the time of
retirement — 14 months.

e Average monthly salary — Rs. 16,600.
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House 1 House I

Rs. Rs.

Fair rent . 75,000 85,000
Rent received. ‘ 78,000 78,000
Municipal valuation 76,000 75,000
Municipal taxes (due) 13,000 14,000
Repairs ~ 3,500 4,700
Insurance 2,000 3,000
Land revenue (paid) 2,500 4,000
Ground reht {due) 1,600 | 6,000
Interest on borrowed capital 20,000 22,000
Nature of occupation Let out for Let out for
residence business

House situated at Haldia Siliguri

2014-15 Assessment Year-G3 G {3, «. AW W
(AT oy g3 w91
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{i} Basic salary Rs. 12,000 p.m.

(i) D.A. 50% of Basic salary (which enters in the
retirement benefit as per. the terms of
employment)

(iii) Bonus Rs, 4,000 p.'a.

(iv} Rent from accommodation in Delhi provided by
X Ltd., the employer, fair rental value ‘being
Rs. 20,000.

(v) The cost of furniture provided therem is
Rs. 10,000.

(vi) Entertainment allowance Rs. 500 p-m.

{vii) Free use of motor car of 1.8 ltrs. engine capacity
with driver, partly for official purpose and partIy
for personal purpose.

(vii) Life insurance premium paid by Mr. Sagar Kar
is Rs. 12,000 p.a. on a policy of Rs. 1,30,000.
() B e s
(i} Annual Value,

(i) Deduction in respect of interest on borrowed
capital u/s 24(b).

(iiij Capital assets.
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(q)  SAIBIA IA 2
i) Direct taxes 2% Indirect taxes.
(i) Tax avoidance €% Tax evasion.

(iiij Legal Income ¥R Illegal Income.
(¢) wmfd® w9y Pty 2014-15 assessment year-a3F &#J
gross total income, total income, gross tax liability

€% net tax liability 4R ST | (&THrerTTe ST FT7
(S (S AMAD)
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